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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 8 rFkk iz'u 19 gSaA  
 Please make sure that the printed pages in this question paper are 8 in number and 

it contains 19 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 
the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 
strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  
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 Candidates must write their Roll No. on the question paper. Except Roll No. do not 
write anything on question paper and don't make any mark on answers of objective 
type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/lEcU/lEcU/lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAk esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAk esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAk esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 
complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
 (i) lHkh iz'u vfuoklHkh iz'u vfuoklHkh iz'u vfuoklHkh iz'u vfuok;Z gSaA;Z gSaA;Z gSaA;Z gSaA 
 (ii) izR;sd iz'u ds fu/kkZfjr vad mlds lkeus fn, x, gSaA 
 (iii) iz'u la[;k 1 dks lksyg  lksyg  lksyg  lksyg  (i-xvi ) oLrqfu"B iz'uksa esa ck¡Vk x;k gSA çR;sd iz'u 1 vad dk gSA 

funsZ'kkuqlkj bu iz'uksa ds mÙkj nhft,A 
 (iv) iz'u la[;k 2 ls 8 rd vfr-y?kwÙkjkRed iz'u gSa ftuesa izR;sd iz'u 2 vadksa dk gSA izR;sd dk 

mÙkj lkekU;r% 30 'kCnksa ls vf/kd ugha gksuk pkfg,A 

 (v) iz'u la[;k 9 ls 16 rd y?kwÙkjkRed iz'u gSa ftuesa izR;sd iz'u 4 vadksa dk gSA izR;sd dk mÙkj 
lkekU;r% 60 'kCnksa ls vf/kd ugha gksuk pkfg,A 

 (vi) iz'u la[;k 17 ls 19 rd nh?kZ mÙkjkRed iz'u gSa ftuesa izR;sd iz'u 6 vadksa dk gSA izR;sd dk 
mÙkj lkekU;r% 130 'kCnksa ls vf/kd ugha gksuk pkfg,A 

 (vii) lHkh nh?kZ mÙkjkRed iz'uksa esa vkUrfjd NwV miyC/k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh gh gh gh iz'u 
djuk gSA 

 (viii) 'kCn-lhek lw=ksa] la[;kRed rFkk js[kkfp= okys ç'uksa ij ykxw ugha gSA 
General Instructions :  

 (i) All questions are compulsory. 

 (ii) Marks for questions are indicated against each. 

 (iii) Question No. 1 is divided into sixteen (i-xvi) objective type questions. Each 
question carries 1 mark. Answer these questions as per instructions. 

 (iv) Question Nos. 2 to 8 are very short answer type questions carrying 2 marks 
each. Answer to these should normally not exceed 30 words each. 
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 (v) Question Nos. 9 to 16 are short answer type questions carrying 4 marks 
each. Answer to these should normally not exceed 60 words each. 

 (vi) Question Nos. 17 to 19 are long answer type questions carrying 6 marks 
each. Answer to these should normally not exceed 130 words each. 

 (vii) Internal choice is available in all long answer type questions. You have to 
attempt only one of the given choice. 

 (viii) Word limit is not applicable to formulae, numericals and diagrammatical 
questions. 

 [    oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u ]    
[ Objective Type Questions ] 

 fuEufyf[kr iz'uksa ds lghlghlghlgh fodYi pqfu;s % 
 Choose the correct option of the following questions : 

  1. (i) fuEufyf[kr esa ls dkSu&lk lef"V rÙo ughaughaughaugha  gS \ 1 

  (A) O;kikj pØ (B) miHkksDrk larqyu 

  (C) QeZ dk larqyu (D) (B) o (C) nksuksa 

  Which of the following is not a macro elements ? 

  (A) Business cycle (B) Consumer equilibrium 

  (C) Firm equilibrium (D) Both (B) & (C) 

 (ii) dqy vkxe ÷ csph xbZ ek=k (TR ÷ Q) = 1 

  (A) AR (B) MR (C) TQ (D) buesa ls dksbZ ugha 
  Total Revenue ÷ Quantity (TR ÷ Q) = 

  (A) AR (B) MR (C) TQ (D) None of these 

 (iii) 'kq) fuos'k cjkcj gS % 1 

  (A) ldy fuos'k $ ewY;Ðkl (B) ldy fuos'k – ewY;Ðkl 
  (C) ldy fuos'k × ewY;Ðkl (D) ldy fuos'k ÷ ewY;Ðkl 
  Net Investment is equal to : 

  (A) Gross Investment + Depreciation 

  (B) Gross Investment – Depreciation 
  (C) Gross Investment × Depreciation 

  (D) Gross Investment ÷ Depreciation 
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 (iv) vkSlr cpr izo`fÙk (APS) = 1 

  (A) 
S

Y  (B) 
S

Y

∆

∆  (C) 
Y

S  (D) 
Y

S

∆

∆
 

  Average propensity to save (APS) = 

  (A) 
S

Y  (B) 
S

Y

∆

∆  (C) 
Y

S  (D) 
Y

S

∆

∆
 

 (v) foÙkh; o"kZ 'kq: gksrk gS % 1 

  (A) 1 tqykbZ (B) 1 tuojh (C) 1 vizSy (D) buesa ls dksbZ ugha 
  Financial Year is started from : 

  (A) 1st July (B) 1st January (C) 1st April (D) None of these 

 (vi) fuEu esa ls dkSu&lh fo'ks"krk ,dkf/kdkjh izfr;ksfxrk ls lacaf/kr gS \ 1 

  (A) ,d foØsrk 
  (B) le:i oLrq,¡ 
  (C) QeZ ds izos'k o fudklh ij izfrca/k 
  (D) oLrq foHksn 

  Which of the following is a characteristic of the monopolistic competition ? 

  (A) One seller 

  (B) Homogeneous products 

  (C) Ban on freedom of entry and exit of firm 

  (D) Product differentiation 

 fuEufyf[kr dFku lghlghlghlgh  gaS ;k xyrxyrxyrxyr crkb, % 
 State whether the following statements are True or False : 

 (vii) vFkZ'kkL= dsoy HkkSfrd oLrqvksa dk v/;;u djrk gSA 1 

  Economics studies only material things. 

 (viii) ek¡x dk fu;e fxQu oLrqvksa ij ykxw ugha gksrkA 1 

  Law of Demand is not applicable on Giffen goods. 
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 (ix) nw/k dh ek¡x csykspnkj gksrh gSA 1 

  The demand for Milk is inelastic. 

 (x) ` 10 dk uksV RBI }kjk tkjh fd;k tkrk gSA 1 

  RBI issues ` 10 Note. 

 (xi) vk;dj ,d izR;{k dj gSA 1 

  Income tax is a direct tax. 

 [kkyh LFkku Hkjsa %[kkyh LFkku Hkjsa %[kkyh LFkku Hkjsa %[kkyh LFkku Hkjsa %    
    Fill in the blanks : 

 (xii) tc lhekar mRiknu 'kwU; gksrk gS rc dqy mRiknu -------------- gksrk gSA 1 

  When marginal production is zero, then total production is ………….. . 

 (xiii) lkekU; dher dk fu/kkZj.k --------------- le; dky esa gksrk gSA 1 

  Normal price is determined in …………… time period. 

 (xiv) phuh ds mRiknu esa -------------- e/;orhZ miHkksx gSA 1 

  ……………. is a intermediate consumption in Sugar production. 

 (xv) eqnzk = --------------- $ ek¡x tekA 1 

  Money = …………… + Demand Deposit. 

 (xvi) izkFkfed ?kkVk = jktdks"kh; ?kkVk – ---------------- 1 

  Primary Deficit = Fiscal Deficit – ……………. . 

[    vfr&y?kwÙkjkRed iz'u vfr&y?kwÙkjkRed iz'u vfr&y?kwÙkjkRed iz'u vfr&y?kwÙkjkRed iz'u ]    
[ Very Short Answer Type Questions ] 

  2. lhekar volj ykxr D;k gksrh gS \ 2 

 What is Marginal Opportunity Cost ? 

  3. ctV js[kk fdls dgrs gSa \ 2 

 Define the Budget Line. 
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  4. iwjd oLrq,¡ D;k gksrh gSa \ 2 

 What are Complementary goods ? 

  5. vfr vYidky D;k gksrk gS \ 2 

 What is very short period ? 

  6. tc ek¡x dh vis{kk iwfrZ esa vf/kd o`f) gksrh gS] rks larqyu dher ij D;k izHkko iM+sxk \ lfp= o.kZu 
djsaA  2 

 When there is a greater increase in supply than in demand, what will be effect 
on the equilibrium price ? Define with diagram. 

  7. eqnzk ds M1 rFkk M2 ekiksa esa vUrj crk,¡A 2 

 Tell the difference between M1 and M2 measurement of Money. 

  8. iw.kZ jkstxkj ls D;k vfHkizk; gS \ 2 

 What do you mean by Full Employment ? 

[    y?kwÙkjkRed iz'u y?kwÙkjkRed iz'u y?kwÙkjkRed iz'u y?kwÙkjkRed iz'u ] 
[ Short Answer Type Questions ] 

  9. ek¡x dh yksp dks izHkkfor djus okys rÙoksa dk o.kZu djsaA 4 

 Explain the factors which influence the Price Elasticity of Demand. 

10. dqy ykxr rFkk lhekar ykxr esa laca/k crk,¡A  4 

 Explain the relation between Total Cost and Marginal Cost ? 

11. ,d iw.kZ izfr;ksxh QeZ larqyu dh voLFkk esa vlkekU; ykHk dek ldrh gSA js[kkfp= }kjk le>k,¡A 4 

 A perfectly competitive firm can earn supernormal profit in equilibrium position. 

Explain with diagram. 

12. ,dkf/kdkj cktkj dk mn; dSls gksrk gS \ 4 

 How does a Monopoly Market arise ? 
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13. fuEu vk¡dM+ksa ls (A) cktkj dher ij ldy ?kjsyw mRikn o (B) dkjd ykxr ij ldy ?kjsyw mRikn Kkr 
djsa %  4 

 (i) fuoy vizR;{k dj   =  38 djksM+ 
 (ii) vpy iw¡th dk miHkksx   =  34 djksM+ 
 (iii) fons'kksa ls izkIr fuoy dkjd vk;   =  (–) 3 djksM+ 
 (iv) fdjk;k   =  10 djksM+ 
 (v) ykHk   =  25 djksM+ 
 (vi) C;kt   =  20 djksM+ 
 (vii) jkW;YVh   =  5 djksM+ 
 (viii) etnwjh o osru   =  170 djksM+ 
 (ix) lkekftd lqj{kk esa ekfydksa dk ;ksxnku   =  30 djksM+ 
 Calculate(A) Gross Domestic product at Market Price (B) Net National Product at 

factor cost from following : 

 (i) Net Indirect Tax   =  38 Crore 
 (ii) Depreciation   =  34 Crore 

 (iii) Net factor Income from abroad  =  (–) 3 Crore 
 (iv) Rent   =  10 Crore 
 (v) Profit   =  25 Crore 
 (vi) Interest   =  20 Crore 
 (vii) Royalty   =  5 Crore 
 (viii) Wages & salary   =  170 Crore  
 (ix) Owner's contribution to social security =  30 Crore 

14. ekSfnzd uhfr ds xq.kkRed mik; crk,¡A 4 

 Write the qualitative measures of Monetary Policy ? 

15. ljdkjh ctV ds eq[; mn~ns'; D;k&D;k gSa \ 4 

 What are the objectives of Government Budget ? 

16. izfrdwy Hkqxrku 'ks"k dks lq/kkjus ds mik; fy[ksaA 4 

 Write the measures to correct adverce Balance of Payment. 
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 [    nh?kZ mÙkjkRed iz'u nh?kZ mÙkjkRed iz'u nh?kZ mÙkjkRed iz'u nh?kZ mÙkjkRed iz'u ]    
[ Long Answer Type Questions ] 

17. ek¡x dh dher yksp ls vki D;k le>rs gSa \ bls vkuqikfrd ;k izfr'kr fof/k ls dSls ekirs gSa \  6 

 What do you mean by Price Elasticity of Demand ? How is it measured by 
Percentage or Proportionate Method ? 

vFkokvFkokvFkokvFkok    
OR 

 O;kikfjd cSad D;k gS \ blds dk;ksZa dk o.kZu djsaA  

 What is Commercial Bank ? Explain its functions ? 

18. ,dkf/kdkj cktkj D;k gS \ bldh fo'ks"krk,¡ crk,¡A 6 
 What is Monopoly Market ? Explain its characteristics. 

vFkokvFkokvFkokvFkok    
OR 

 ,dkf/kdkjh izfr;ksfxrk cktkj dh fo'ks"krkvksa dk o.kZu djsaA  

 Explain the characteristics of Monopolistic Competition Market. 

19. jk"Vªh; vk; ekius dh ^O;; fof/k* dk o.kZu dhft,A 6 

 Explain the 'Expenditure Method' of measuring the National Income. 

vFkokvFkokvFkokvFkok    
OR 

 vk; fof/k ls jk"Vªh; vk; dks ekius ls lacaf/kr lko/kkfu;ksa dk o.kZu djsaA   

 What precautions are necessary to measure National Income by Income Method ? 

S 


